
Math 651: Demo Homework August 28, 2017 Your name here.

1. Exercise 0.1 (Solution by John Gimbel)

If a and b are even integers, then so is a + b.

Solution:
Let a and b be even integers. Then there exist integers j and k such that a = 2 j and
b = 2k. But then

a + b = 2 j + 2k = 2( j + k). (1)

Since j + k ∈ Z, a + b is even.

2. Exercise 0.2 (Solution by Elizabeth Allman)

Plot sin(x) and cos(x) for −π ≤ x ≤ π on the same graph. Make sure the graph is labeled
nicely.

Solution:

octave:1> x=[-pi:0.01:pi];

octave:2> plot(x,sin(x),x,cos(x));

octave:3> set(gca, "fontsize", 14 )

octave:4> xlabel("x");ylabel("y");title("sin and cos");

octave:5> legend("sin","cos");
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